



## 5 lb Hopper Assembly With Wire Auger, Replacement For Cecilware #CD185L

[Read More](#)

**SKU:** CD185L

**Price:** \$101.58

**Categories:** [Cecilware](#)

### Product Description

4.5lb Hopper Assembly With Wire Auger

---



## 5-Gallon Bowl With Stainless Steel Outlet Tube, Replacement For Grindmaster #1288

Fits Models D15, D155, D25, D25-4, D255, D35, D35-4, D355, E29, E49, G-Cool, WD15, WD155, WD25, WD255, WD35, WD355

[Read More](#)

**SKU:** 1288

**Price:** \$116.00

**Categories:** [Grindmaster](#)

### Product Description

5-Gallon Bowl With Stainless Steel Outlet Tube (Exact Replacement)

---



## 5.5lb Hopper Assembly With Wire Auger, Replacement For Cecilware #CD144L

[Read More](#)

**SKU:** CD144L

**Price:** \$103.48

**Categories:** [Cecilware](#)

### Product Description

5.5lb Hopper Assembly With Wire Auger

---



## 5/8 x 12 Inch Gauge Glass, Replacement For Wilbur Curtis, WC-2029, 3375000307

[Read More](#)

**SKU:** WC-2029

**Price:** \$3.48

**Categories:** [Wilbur Curtis](#)

### Product Description

5/8 x 12" Gauge Glass

---



## 5/8 x 8 Inch Gauge Glass, Replacement For Wilbur Curtis, WC-2025, 3375000297

Fits Models GEM-3, GEM-5, GEM-8, GEM3, GEM3IF,  
TXSG0101S600

[Read More](#)

**SKU:** WC-2025

**Price:** \$3.85

**Categories:** [Wilbur Curtis](#)

### Product Description

5/8 x 8" Gauge Glass

---



## 50 Ft Black Extension Cord, 16/3 Sjtw Rated At 105C, UL Approved For Out Door Use

16/3 Sjtw 105C, Standard NEMA 5-15 receptacle to  
NEMA 5-15 plug, perfect for every day connections,  
Rated for outdoor use, UL listed for safety. Commercial  
Grade.

[Read More](#)

**SKU:** ELE323-050

**Price:** \$24.30

**Categories:** [Cord](#)

### Product Description

---

## 50 Psi Water Regulator With 3/8 Stainless Steel Barbs



Shurflo Water Pressure Reducer Valves (WPRV) are fixed pressure, water-reducing devices (non-adjustable). The WPRV minimizes incoming water pressure fluctuations while guarding against pressure spikes. Actual pressure reduction is dependent upon input pressure and outlet flow rate.

[Read More](#)

**SKU:** 183-150-SS

**Price:** \$38.70

**Categories:** [Regulator](#)

### Product Description

---

## 6 Foot 14/3 Round Black Cord With Molded Plug 15 Amp 125 Volt 1875 Watts SJTW 105C



[Read More](#)

**SKU:** 09716

**Price:** \$7.89

**Categories:** [General Parts](#)

### Product Description

6' 14/3 black 5-15P SJTW 105C Cord Set

---



**6 Foot 14/3 Round Black Cord With Molded Plug 15 Amp 125 Volt 1875 Watts SJTW 105C Replacement For Bloomfield #8942-48, Star #2E-41050**

Fits Models 8780, 8780CA, 8782, 8782CA, 8782XL, 8782XLCA, 8783CA, 8785CA, 8785XL, 8795, 9121

[Read More](#)

**SKU:** 8942-48

**Price:** \$7.89

**Categories:** [Bloomfield](#)

**Product Description**

6' 14/3 black 5-15P SJTW 105C Cord Set, Star #2E-41050

---



**6 Foot 14/3 Round Black Cord With Molded Plug 15 Amp 125 Volt 1875 Watts SJTW 105C, Replacement For Bunn #01719.1004 And #20630.0014**

Fits Models All 120 Volt Machines

[Read More](#)

**SKU:** 01719.1004

**Price:** \$7.89

**Categories:** [Bunn](#)

**Product Description**

6' 14/3 Black Cord

---



## 6 Foot 14/3 Round Black Cord With Molded Plug 15 Amp 125 Volt 1875 Watts SJTW 105C, Replacement For Wilbur Curtis, WC-1200, 3375000233

Fits Models CLC, CLCA, GEM-120A

[Read More](#)

**SKU:** WC-1200

**Price:** \$7.89

**Categories:** [Wilbur Curtis](#)

### Product Description

6' 14/3 Black 15A/125V 1875 Watts Pigtail Molded Straight Plug. Thermoplastic Jacket 300V, Water Resistant



## 6 Foot 16/3 Black 5-15P SJTW 105C Cord Set, 13 Amp 125 Volt 1625 Watts, Replacement For Bunn #01637.0000

Fits Models Bunn, GMB-PS, HW2, ITB, OHW, OHWA, S, T3, T3A, T6, T6A, TB3, TB3-LP, TB3Q, TB3Q-LP, TB6, TB6Q, TNT-3, TNTF-3, TU3, TU3Q, TU3Q-EZ, TU3QF-EZ, TW, TWF, TWF-15, TWF-EZ, VLPF, VP17, VP17A, VP17B, VPR, VPR APS, VPR TC, VPS (Lighted Switches), VPS (W/O Lighted Switches), WS2B, WX2

[Read More](#)

**SKU:** 01637.0000

**Price:** \$6.00

**Categories:** [Bunn](#)

## Product Description

6' 16/3 black 5-15P SJTW 105C Cord Set

---